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1. (a)

,2
"Limitations of financial accounting have made th" .urrg"rn"n t rcalize the

importance of cost accounting." Comment.

(b) Distinguish between (any two) :

(i) Cost centre and cost unit

(ii) Direct and indirect costs.

(iii) Cost of production and cost of sales (s, l0)

OR

(a) Explain the meaning and relevance of cost accounting standards in the

preparation of cost statements

(b) "Cost classification based on variability, controllability and traceability are

used by the enterprises for different objectives" In the light ofthis statement

explain the different cost classification. (5,10)

2. (a) Write a note on Economic Order Quantity (EOQ).

(b) From the following information, calculate labour turnover rate and flux rate :

No. of workers as on 01 .01 .2022

No. of workers as on 31.12.2022

7,600

8,400

During the year, 80 workers left while 320 workers were discharged, 1,5O0

workers were recruited during the year of whom 300 workers were recruited

because of exits and the rest were recruited in accordance with expansion

plans. (5,10)

OR

(a) What do you mean by labour turnover? Also explain the different methods

of measuring it.
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(b) A company manufactures a special product which iequires a component
"A". the following particulars are available for the year 2022;

Amual Demand 10,000 units
Cost of placing an order
Cost per unit of"A' < 500

20%

The company has been offered a discount of 5% on purchase of ..A', provided
the order size is 5000 components at a time.

You are required to calculate -
(i) Economic Order Quantity

(ii) Advise whether discount order can be accepted or not? (5, 1 0)

3. (a) A machine was purchased for Rs. 5 lakh. The total cost of all machinery
inclusive of the new machine was Rs. 75 lakh. The following further particulars
are available :

Expected life of the machine I 0 years

Scrap value at the end of ten years Rs. 5,000

Repairs and maintenance for the machine during the year Rs. 2,000

Expected number of working hours of the machine per year 4,000 hours

Insurance premium annually for all the machines Rs. 4,500

Electricity consumption for the machine per hour (@ 75 paise per unit) 25
uruts

Area occupied by the machine 100 sq. ft

Area occupied by other machines 1500 sq. ft

3

P.T.O.

t 250 per order

Carrying cost p.a.
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Rent per month of the department Rs. 800

Lighting charges for 20 points for the whole department, out of,which three

points are for the machine Rs. 120 per month

Compute the machine hour rate for the new machine on the basis of the data

given above. (15)

OR

(a) Explain the meaning of classification, allocation, apportionment,

reapportionment and absorption of overheads.

(b) What do you mean by under/over absorption of overheads? What are its

causes? How do you account for them? (5,10)

4. (a) The following inlormation relates to a building contract for Rs. 10,00,000

lbr two years, i.e., 2021 and 2022 :

2021

Rs.

2022

Rs.

Materials issued

Direct wages

Direct expenses

Indirect expenses

Work certified

Work uncertified

Materials at site

Plant issued

3,00,000 84,000

2,30,000 1,05,000

22,000 10,000

6,000 1,400

7,50,000 10,00,000

8.000

5,000 7,000

14,000 2,000

Cash received from contractee 6,00,000 10,00,000
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The value ofplant at the end of 2021 and 2022 was Rs. 7,000 and Rs. 5,000,

respectively.

Prepare (i) Contract Account, and (ii) Contractee's Account for two years

2021 and 2022 taking into consideration such profit for transfer to profit

and loss accounts as you think proper. (15)

OR

\
The following data are available in respect of Process I for February 2021 :

(i) Opening stock of work-in-progress: 800 units at a total cost of Rs. 4,000

(ii) Degree of completion of opening work-in-progress: Materials 100%, Labour

607o Overheads 60%.

(iii) Input of materials at a total cost Rs. 36,800 for 9,200 units

(iv) Direct wages incurred Rs. 16,740

(v) Production overheads Rs. 8,370

(vi) Units scrapped: 1,200 units.

The stage of completion of these units was: Materials 1009'", Labour 807o,

Overheads 80%.

(vii) Closing work-in-process: 900 units.

The stage of completion of these units was: Materials lOOVo , Labow 70o/o,

Overheads 7 TYo . Firm uses FIFO method of inventory valuation.

(viiD 7,900 units were completed and transferred to next process

(ix) Normal loss is 8% of the total input (opening stock plus units put in)

(x) Scrap value is Rs. 4 per unit

P.T.O,
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You are required to prepare :

(a) a statement ofequivalent production

(b) a statement of cost

(c) evaluation statement and

(d) Process Account. (15)

Avi Electronics Limited furnish the following information for 20,000 TV valves
manufactured during the year ending 31"1 March 2022 -

Particulars {

Materials 1 80 000

Direct Wages 1,20,000

Power and Consumable Stores 24,000

Factory Indirect Wages 30 000

Lighting of Factory I 1 000

Cost of Rectification of defective work (Normal) 6 000

Clerical Salaries and Management Expenses 67,000

Selling Expenses 1 I 000

Sales Proceeds of Scrap 4 000

Plan Repairs, Maintenance and Depreciation 23 000

The net selling price was ?31.60 per unit sold and all the units were sold. As

from 1" April, 2022, the selling price was reduced to {31 per unit sold. It was

estimated that the production could be increased in 2022-23 by 40% due to

spare capacity. Rates of material and direct wages will increase by 20%. you are

required to prepare-

(a) Cost sheet for the year 2021-22 showing various elements ofcost per unit
and
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o)

7

Estimated cost and profit for 2022-23 assuming that 30,000 units will be

produced and sold during the year and factory overheads will be recovered

as percentage ofdirect wages and office and selling expenses as a percentage

of works cost. ( 15)

OR

The following is the Trading and Profit and Loss account of Om Electronics Ltd.

for the year ended 31" March, 2022 - .

Particulars Particulars

To Materials Consumed 24,000 By Sale (700 units) 1 40 000

To Direct Wages 8 000
By Finished Stock (100

units)
7 000

To Works Expenses 24 000 By Interest Received 3,000

To Administrative
Expenses

24,000

To Goodwill Written Off 8 000

To Discount on Debentrres
Written Off

6 000

To Net Profit 56 000

Total 1,50,000 1,50,000

The Company's cost records show that -

(ii) Administrative overhead has been recovered at 30o/o on factorv cost You are

required to prepare-

(a) A Statement ofcost indicating net profit, and

(b) A statement reconciling the profit as disclosed by cost accounts and
that shown in financial accounts. (15)

P.T.O

(i) Works overhead has been recovered at L00%o on prime cost
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l. (w)'ffi fuo{ d Arns} * rsm d dr{rd &-< * rr< irl v6ff( q<rqr il

2q6 dfrvr

(s) u-trt E€ dfrc (*€ n),
(r) arm +rr ft arrrr wr€
(r) rrm sk qc'f,{ EFrf,

(iii) Yerrt arrm at Rfi 6 arrn (s,to )

qI

(u) arrro ft-+tur fun en*t drrm Mo-{rFra1 + ir{ *( cttfuo-dr d rwa dfrgt

(<) 'vRa-f<ffa-ar, ffiq-ar *r llRfrr& + snqR vt i{Fre erflfr"tq cr sq*rr vs*
art frR-dr BM + frc frqr ukn t" Es qqr d sam i ic+ 6q frft-{ ffird
slt6.'{sr * qrer dRgr (s,ro)

2. (lr) irrFo m& EfrA (eoq) vt vo tuqff frfrqr

(e ) ffifrr un-qilt +, ryc 6r+{R rt st rsr6 Et d qwr ffiq:
01.01.2022 d ryftqil- fr Tqr 7,600

31.12.2022 d {ffi!frter o,4oo

q{ + *{rq, 0o {ffi * orc & frqr, irqfu ezo ryffi d e* ? A rr€, q,{ t
*ar r,soo {M * cr$ * rr€, ffi t soo qM d frors + 6riur rff frqr
rEIr qr qktqdfrRR+frrfl]* sqrn rSfrqtzrqr qrr (s,to)

(ir) rq 6rn-cR t srs-6r Hr Hrm4 i? E+ arc+ + RFF{ ntdI d ft taslst

(s) q+. 6ffi qqi friq l-flr€ e{r& * ffi fas qt'' qeq' uA' d sn{.rs-dI *fr *r
s{ zozz + ftq ffifud R-qrqr irrflq *;
Erftq. aiq 10,000 units

3fi9{ ai fr arrrfl { 250 per order

"e'6r cfr gor€ arra < 500

rfr a{ gorg arra 20Yo

ztt
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2

ffi d "e' d qtc w sx fr qr d tvrow d T{ t s{d S& qr eno.n vo
sR I sooo trro *r

3{qdwmq-{fit -
(i) srffio 3n'g{ ffift-&

(ii) q1 qrdr sil€( **.R fuqr ur rr+-f,r I qr r& {rd Eft i t.ar Efrs?

(s,ro )

(r) go qfi-q s are w+ I rutA rd fft ;r{ qfi-tckd qS qffi fr aa arrre zs

arre dct *r ffifur flRfrft fi-{rq sriral i :

qrtrqr fltke fi-+t ro s{
<t s{ + 3ril + r*c }ot s,ooo w}
q{ + ftrrqfi-{ * fts qrqd ft {r{rerd 2,000 rc}
yR s{ q!ff;r + mrr * q.d * flqfue ftqr a,ooo qt
s* qffi + ftq srffi*. ftqr fiRqq n,soo wt
cfi-{ + fts frwe * eqa rfr ut (rs Et sft $-c fr <i t) zs qfrc

crt-;rEnr *n wr ** roo arl ge

r;qrnti anr in rrqr *a tsoo ari ge
Rqm w vR qr6 frTqr eoo wt
t frqr{r t ftS zo .s6c A' ftS frqff Em, ftrrt* t *T rE1-5. qfr{ + frq I20

tc+ vR qr6 *

ucr frs rrs sd * sntm qt r{ qfi-r + fts qfi-{ q? d Et fr wr<r

dfrrsr (ts)

qI

(et) a{t*iw, Brr+.{, frqm{, 5-{trttrffi d( ffiW * rfitsvr 6I o{rl Hq dfrqt

(c) ffi$+ o''q sBo s-dfrsurt flN-6l Br ${ B? Es+ 6R'r q{r flr s{rq.r;r6r

ft{rE *+ t+ t? (s,ro)

(u) ffifua uti-*.ft a s{, qrfr zozr *t zozz * fts ro,oo,ooo w} * E-q-{

it-{su i rnfrt *,
4

P.T.O
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iltdT{qrqfr
n-{!r qw(t

rFIET EI't

TJrEIST ETII

ycrFrd 614

ilncrFrd q.rd

qr{act{r{&
ir{rt urt
{Fert yrq r*,'&

202r
Rs.

s,00p00

2,30p00

22 poo

6,000

7,.5o,OOO

8,000

5,000

I4,000

5,00,000

2022

Rs.

84,000

1,05,000

r0,000

1,400

r0,00,000

// 7,ooo

2,000

r0,00p00

zozr *r zozz * u-ettrr*crlai6rw: Tpoo tqt st s,ooo dqt qrr

*cR dRc (i) qea erm, att (ii) * sqJ eozr utt zozz * ftv a1eired cr
<rei t am str 6rfr crd { $sr fr ilc afud ffi{+ i sid{ur + ftc t+ EtrI yi
kqn dfrsr (rs)

qT

q-rsft zozr + frs cfrqr r * ffa + ffike ta sq-ser l:
(t) m,r4-rlrR qiT 9r1ft5'TEtd': 4,000 tqt d 1a ltFrir rR 8oo t6'rrd

(ii) cffio' c,r{-rrrh * Xtr *} fr qrm <l{ff rooz, ejrq 60% Ssl+qq 6o%t

(iii) e ,zoo {6rt+ + fts q-d orrrkr 36,800 {c+ d qrqfi qr flF
(rv) raa qsr(ft + w i ro,zao wt rs-{ frs W

1u; irsarm $r{{iq€ 8,370 {trrt

(vr) r#v fr rr{ E-+'r{qr: l,2oo Et6r{dl

(vil) r;r ror{& * Er ** sfr ffi: rstr$ moz, sn 80%, .ffis{ aoxr

(vil) srr + 6,r{-yrrfr * RrR: eoo FisE"nt

( i- ) E-t rmrgqt- * gu ** d ffis uqfr roo x, m 7 oyo, ffi$ io x r w{ E*fr
{flrs-{ + npo frD or vq*rr 6'{& ir



4316 ll
(x) z,eoo Edr{d d gn frqt rrqr dt irrrfr cfrqr i rqnr'-dftd qr frqt rrqt

(*) $qrrq nh E-r F{g-c d s% i (yRft-+. d-t. w{ urfi-d * rr$ F+'rtqr)

("r) dq1ia 4 nqtYR{tu*

ilc-+1 tqn q"c<r i:
(s) eq-w3s1-661 fi-(qr

(a) arm qr ft-+tur

(rr) pro-tft-+tur *t
(q) cB'qr Erdrr (rs)

5. Avi Electronics Limited et cr{ zozz d sqtq s{ * ftFrffFia zo,ooo aft slril + ftS
Rstfrkr BFrqilt nqil q.rar t-

hd-{ur {
grqrfr I 80 000

srsw ro-<t 1,20,000

crd{ 3ik frc{A-c-dT d{ 24,000

hrstr sq-ser Fqt 30 000

t;et fiI ffir 11,000

M 616 fi gqri fr arrra (urara; 6,000

frft-fi a-ild sik mitra arrq 67 000

fttrr qq I 1 000

r+c fi ie€r $Tq 4,000

qhi-dTr qrrqf,, r€rGrrq :lk qa5rs 23 000

fi-ffi frfiq Bi{ tst.oo yR $-c i +{r rrqr *r mft E-sr{{i[ d tq frqr rrqrr r s]a,
zozz t &ff {s qdrot sr w} cfr qh-a 6t fret rm qn z16 ir{ffi drncr rrqr q ft'
sRfr€ srrrdrs)6nur 2022-23 drsrrtt aoxsi1gkirc-ft*r qr{fi *rrtqs
c-tr(t * qt i zox d Etr *rftr ffq-* +qn qr<r *-

P.T.O
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(ir) s{ 202r-22 + fts HHIT .t;rifi' ftrs+ vh lR-e m.ra + RFra a-s znls w i
str

(c) c{ 2022-23 * ftq qqrfi-d arqil sk atrr m qra* Es ft s{ * zkr.r so,ooo

Tft&crrareq *tffit&orqft ntrcrer+t dsrt$dy-qar-s$ *r
mrdilc *r R-ff qq + cR{rr * w t or{ irrril + yfurn * w t sqr frqr
tlwmr (rs)

qI

st cr{, eozz d qcm s{ * frg orn gtectronics Ltd. rfi AErI ft am *t erft m<r

IffiT TGf,( E -

6ffi + errrr ft+t€ t v<r qear I ft -
(i) o,rd ffis d {r dFrfi rR l00o/o fr E( t sqi fr'qT rrqr *r

(r) m,martd Fmnr rrt s0% * et+ rflreH-*, ffis aq* ft-qr rrqr *r

fiFni+qR q'fl I -

(ir) ft+a au sflt+ qrf,r amr G-+rq, *t
(c ) amr qrd ara v-o-e frq qq apT *t n*q remt* t Rqrs rs HFr d ffiAfrrd q,ti

qrf,rfrctsrr (rs )

E-flur ft-{iur
qqa fi 45 rrq-rrl 24,OO0 tu#I {4RT(700 56rfqi) 1 40 000

riwr rqtt d 8 000
tqx d'+- (dRT(1oo

Eflgqi)
7 000

*{'*tg 24 000 qIkT an.,r (Fm 3 000

c?nqfro wa { 24,000

Tsfffi o--it rqre fq 8 000

Bi+r il-c} *.& * g. € 6 000

B-c-a am 8g 56 000

EET
J

1,50,000

( 10,000)

I

I riopoo


